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NO. OF QUESTIONS:          75
MAX. MARKS:        150

TIME:   60 min

INSTRUCTIONS:

Read all the following instructions carefully before answering questions.

This Multiple Choice Question Paper – It consist of 75 questions, Booklet carries 8 
pages.
Fill your Roll No., Group., Test Booklet No. Booklet Series clearly without any over-
writing and without any omission or discrepancy, else  will render the Answer Sheet 
liable for rejection.
Darken only ONE Choice with Black/Blue Ball Pen from the four options marked a, 
b, c or d on the OMR sheet provided. Answer, once marked, should not be changed, 
as erasing or overwriting will be treated as multiple marking and no marks will be 
awarded for such answers.
The instructions on the OMR Sheet should be followed carefully.
Each question carries 2 marks.
All questions are compulsory.
Only filled OMR sheet will be accepted as an answer script.
Sheet for rough work is provided in the Question Booklet at the end.
Candidate should allocate their time judiciously to all the questions.

1.

2.

3.

4.
5.
6.
7.
8.
9.

A



Page 2 of 8DC-A

Part I
GENERAL ENGLISH

Questions 15 to 18 , four alternatives are 
given, Choose the phrase which best 
expresses the meaning of the Idiom/phrase. 

A. Sleep B. Stand

C. Sing D. Cow

1. Point out the noun

A. Delhi B. Earth

C. Phone D. Shillong

2. Indicate common noun

A. Actor B. Victor

C. Doctor D. Collector

3. What is the masculine form of Actress?

A. Lioness B. Tigeress

C. Lady D. None of the above

4. What is the feminine form of Tiger?

A. Leafs B. Leaves

C. Leaps D. None of the above

5. Spot the plural of Leaf?

A. Childs B. Childrens

C. Children D. Chill

6. What is the plural of Child?

A. bright colour          B. brightly colour

C. bright coloured       D. brightly coloured

7. Choose the correct order of the adjec-
tives for the sentence.
She was wearing a  _____  saree.

A. often is damaged B. is often damaged 

C. is damaged often     D. damaged is often

8. Fill in the blank with correct order of 
adjective in the sentence
Liver_____ by excessive drinking of alcohol

A. her B. she

C. his D. herself

9. It was ____ who wrote this. Fill in correct 
word.

A. whom you believe      B. who you believed

C. that you believe     D. who you believe 

10. Please elect the member ______ has 
done the most for our village.
Fill in the correct alternative shown below.

A. Upportunity          B. Appertunity

C. Opportunity           D. opportunitee

11. Indicate the correct spelling

A. Beatiful             B. Butifool

C. Beautiful               D. Boutiful

12. Which is the correct spelling?

A. Happy B. Wonderful 

C. Sadness D. None of the above

13. Identify meaning of the word  Tragedy

A. Dark B. Lighted

C. Dim D. Pitched black

14. Spot the meaning of the word illuminated

A. Make drinks for people    

B. Make people comfortable

C. Skating on the ice rink     

D. Hitting on the snow

15. Break the ice 

A. Dance to the music                    

B. Music made for the face 

C. Music is directed to the face      

D. Receive the punishment

16. Face the music 
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A. Moon turning Blue       B. Very rarely

C. Bad sign D. Frequently

17. Once in a blue moon 

A. Change the gears .                    

B. To share equally

C. Counting upto hundred

D. To go in a different direction

18. To go fifty fifty 

A. Apparently B. Legally

C. Nearly D. Willingly

19. Choose the appropriate meaning of the 
foreign word De Facto

A. Moon turning Blue       B. Very rarely

C. Bad sign D. Frequently

20. Indicate the  meaning of the  word 
Sufficient

A. An Adjective                B. An adverb

C. A noun                    D. A pronoun

21. “(Lt) Mr Jethmalani was a well known 
lawyer”

A. whether                 B. if 
C. for                      D. why

22. Select the appropriate alternative for the 
sentence to use in indirect speech
She asked me _______ she could use my 
bicycle

A. The Teacher said light must have travelled 
in a straight line.                   
B. The Teacher  exclaimed that  light must 
have been travelling in a straight line.
C. The Teacher said that the light travels in a 
straight line.
D. None of the above.

23. Choose the correct reported speech.
The teacher said,”Light travels in a straight 
line”

A. My brother said he was joining a new 
company.                  
B. My brother said he is joining a new compa-
ny.
C. My brother said he would join a new com-
pany.
D. My brother says he will join a new compa-
ny.

24. Indicate the correct indirect speech
My brother said, ”I am joining a new compa-
ny.” 

A. whether                 B. if 
C. for                      D. why

25. Fill in the blank with appropriate option
The students spent an hour thinking 
________ the problem.
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Part II
ARITHMETIC

A. 46.789               B. 46.5

C. 46 D. 46.66

26. Add 27.5, 8.93, 0.759, 9.6

A. 6             B. 4
C. 7 D. 5

27. Find 1/8th of 40

A. 3             B. 27

C. 18 D. 81

28. Square root of 9 is

A. 37       B. 42

C. 46 D. 48

29. Which of the following is an odd 
number?

A. 22222 B. 3303033

C. 1589147            D. 1302444

30. Which of the following numbers are 
divisible by 11?

A. 7 B. 8
C. 9 D. -9

31. What is the value of X in the equation 
3X-15-6 = 0

A. 28             B. 25

C. 28.5 D. None of the above

32. 16 % of 175 is

A. Both negative and 
positive

B. Negative

C. Positive                                D. None of the above

33. The square of a positive number is

A. 44%   B. 68%

C. 56%      D. 50%

34. In a school 1750 students appeared for 
an examination. Of them 560 passed and 
the rest failed. What percentage of 
students failed?

A. Rs 10,000 B. Rs 9,000

C. Rs 12,000 D. Rs 11,000

35. A car which cost Rs 1,20,000 is 
discounted at 10%.
What is the discount?

A. Rs 368.45  B. Rs 360

C. Rs 370      D. Rs 350.55

36. Ravi bought a Mathematics and a 
science text book for Rs 93.50 and Rs 38.05 
respectively. He gave Rs 500 to the shop-
keeper. How much money was returned to 
him?

A. 2.4            B. 2.04

C. 2 D. 3

37. Find the value of 2% of 120

A. 7:2 B. 7:6

C. 3:1 D. 8:7

38. Two whole numbers whose sum is 64 
can be in the ratio of

A. 0.09           B. 0.009

C. 0.0009      D. 0.000009

39. 0.0003 X 0.03 = ?

A. 20  B. 40

C. 30     D. 25

40. In a School for mid-day meal, food is 
sufficient for 250 students for 33 days, if 
each student is given 325 gms meal. 80 
more students joined the school. If same 
amount of meal is given to each student, 
then the food will last for how many days.

A. 25 B. 20

C. 22 D. 23

41. If the cost of 15 bananas  is Rs 84, how 
many bananas can be bought for Rs 140?
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A. 60 lts B. 64 lts

C. 60.4 lts D. 65.5 lts

42. A bus consumes 12.5 litres of diesel in 
covering a distance of 75 km. How much 
diesel will it consume in covering 393 km?

A. 25 B. 20

C. 22 D. 23

43. The cost of 1 kg of chicken is Rs 200. 
What is the cost of 1kg 750 gms of chicken? 

A. 9.843 ft B. 10.52 ft

C. 8.49 ft D. 9.9 ft

44. If 1 meter = 3.281 feet, How many feet are 
there in 3 meters?

A. 30 degrees B. 60 degrees

C. 50 degrees D. 45 degrees

45. The angles of a triangle are in the ratio of 
3:4:5. The smallest angle of the triangle is

A. 8 B. 10

C. 12 D. 13

46. A certain sum of money was deposited 
in a bank and it became double in 10 years. 
What is the rate of Simple Interest?
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Part III
GENERAL KNOWLEDGE

A. MFEDJJOE      B. EOJDEJFM

C. MFEJDJOE        D. EOJDJEFM

47. In a certain code language COMPUTER 
is written as RFUVONPC. How Will MEDI-
CINE be written in that code language?

A. 14            B. 15

C. 16 D. 17

48. Complete the series 2, 4, 7, 11, ?, 22

A. 27            B. 22

C. 24 D. 26

49. The number missing in the series 2, 5, 
10, 17, __, 37, 50, 65 is

A. N is brother of B     B. N is brother of D

C. M is brother of D D. D is brother of M

50. If (i) M is brother of N, (ii) B is  brother of 
N, (iii) M is brother of D, then which of the 
following statement is definitely true?

A. Green, white and saffron         

B. White, green and saffron

C. Saffron ,white and green

D. Saffron, green and white

51. Indian National Flag has 3 colours 
placed horizontally in the following order 
from the top

A. Shillong B. Jorhat

C. Guwahati            D. Cherrapunjee

52. What was the Capital of Assam before 
Dispur?

A. Kaziranga                        B. Rathambore

C. Gir Forest                                   D. Papikonda

53. One horned Rhinoceros is found in 
_______

A. Straight line                      B. Zigzag line

C. Waves                              D. None of the above

54. Light travels in ______

A. Coal B. Lime Stone

C. Sand D. Clay

55. ______ is an important raw material in a 
Coke Plant

A. Panchayati Raj     

B. Urban Local Bodies

C. Autonomous District Councils

D. Disqualification of MPs and MLAs

56. 6th Schedule of the Constitution of India 
deals with

A. 18 B. 21

C. 20 D. 19

57. Voting rights in India can be exercised 
from ______ yrs

A. Indira Gandhi          B. Sarojini Naidu

C. Rani of Jhansi         D. Sonia Gandhi

58. Who is the First Woman Prime Minister 
of India?

A. Hydrogen      B. Helium

C. Oxygen                   D. Carbon dioxide

59. Which of the following gas is an inert 
gas?

A. Sankranti                     B. Diwali

C. Bakrid             D. Holi

60. ________ is the festival of lights

A. Chanakya          B. Kautilya

C. Valmiki                 D. Vashistha

61. Who wrote the Ramayana?
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A. Shah Jahan B. Nizam of Hyderabad

C. Akbar D. Jehangir

62. Taj Mahal was built by?

A. Tokyo and Hiroshima    

B. Nagasaki and Miyazaki

C. Sendai and Hiroshima

D. Hiroshima and Nagasaki 

63. In which cities of Japan were Atomic 
bombs dropped during World War II?

A. Compressed Natural Gas      

B. Carbon and Nitrogen Gas

C. Coloured Natural Gas              

D. None of the above

64. CNG stands for

A. Sarojini Naidu     B. Lata Mangeskar

C. Romilla Thapar        D. Hema Malini

65. Name the Indian Leader often referred 
to as Nightingale of India

A. 1st May B. 5th September

C. 14th November    D. 25th December

66. When is Children’s Day celebrated?

A. Jaintia Hills Autonomous District Council        

B. Garo Hills Autonomous District Council

C. Khasi Hills Autonomous District Council          

D. Bodoland Territorial Council

67. Chose the odd one out

A. East Garo Hills            B. South West Garo 

C. West Garo Hills                 D. South Garo Hills

68. Balpakram National park is located in 
____________

A. Jakrem and Resubelpara        

B. Tuber and Damas

C. Ranikor and Selsela                    

D. Baghmara and Mawkyrwat

69. There are Hot springs in these places 

A. Umsning                      B. Mawrynkneng

C. Rongram                       D. Dadengre

70. Choose the odd one out

A. 12 B. 14

C. 7 D. 8

71. There are ______ colours in a rainbow

A. East Khasi Hills Area                    

B. East Garo Hills Area

C. West Jaintia Hills Area                        

D. South West Khasi Hills Area

72. Teak and Sal forest is found mostly in  

A. Shillong Peak B. Nokrek Peak

C. Chitmung Peak         D. None of the above

73. Which is the Highest peak in Meghalaya?

A. Shanbor Shullai            B. Metbah Lyngdoh

C. Charles Pyngrope                    D. L Rymbui

74. Who is the Present  Speaker of Megha-
laya Legislative Assembly?

A. L Rymbui                       B.  D D Lapang

C. P Tynsong                              D. H M Shangpliang

75. Who is the present Deputy Chief  Minis-
ter of Meghalaya?
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Space for Rough Work
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